
2) Let een be principal drications with corresponding
principal creatures Kkz. Let i benomial concation at PEM
atomy advection making angles ===)ET with e CW20G)

M

for j21, . . . . m. Then by Euler's frnula,we came

mxj=M (Ress=fthesniety) = Mket(h-42) used
Now we use the following trigonematic identity:
san asEfj= Itcss2() +cs?(24) + ...+ 3s2(2)=
let 8 = 2, so B-1-8, and we have

#ezijy-"(s (252) + is(it)
jum-1 Fyu-13

aesskin) Since it is even and smis odd
J

·mstress"(je)-2) = 4EC5G)-2m - I
socress : tenir 2m+1) I Fif-12m+1) = me

by germativeprogression.
So the result follows/,



3) Proposition (of section 3-30f ds Carmo states that ata

hypeibolic point peM, in each neighborhoodof these exist points
inboth sides ofTPM.
New Suppose PCM Set. Kp)<0. Then is ahyperbolic
point, but bythe proposition we crine ata contradiction
with the assumption that M lies on one side of the tangent
place So we conclude(p) zo is impossible



4) Show that the reliesid

X(us) = (asintirosis, asintrusion, and
and the Europeis surface
Xuv) = (n-thrEvStue, Root

are minimal surfaces.
Helieoid: the can compute
Xu= (-asintersin, assiteness, as

Xv= (acoshuessu, aesshosnile, s)

E=<Xu,Xu) = acshr.

F = <usXr) = 0

&.SXviXv] = cesslr.
So is an isothermal parametrization.
Xun= Fasihrcs, -asnihusmin, 8)
Xor= (assibness, asnitrszin, 5)

So Yun+Xvv =0 => minimal.



Eunaper's surface:
Xus) = (n-sture, vetrue, i-v)
Xu: (1+22,2ur, 2n)
Xv = (2ur, 1-12th-2v)
E: <Xu,Xn) = (Hu+r22
#xXu,Xr) = 8.
GXv,Xv3 = (tur2)

2

Sox is an intramed peremetrization
Xuuz (2m, er, 2)
Xor= (2U,-2r,-2)
So XuntYo = 0 =>minimal



=Xu, v) = (nshulessr, tn) Swir)
Xu = (I, ecuscss, thus sar)
Xv = (0 -(n) suir, hla) css)

Xu xXv=thlu)flu), -hulcss,-tlu) swiv)
E=<Xm n)= 1 + 4cm)"
*= <Xu, Xr) =5

G = < Xr,XrS = tCu)E

Then luxXrl EG-F=G(n)"+hn)"LnS?

SoN=(n)G(u), -hules,-Gussilis
Xun = (0, 9"(u) csv, h"ch) swiv)
Xuw = S0,-tn)sir, tiluessv)
Xov = (0 fucssV,-tn) suv)

-h"
e= <N, Xun) = Pt
f2 <N,Xur) = 8

g=<N,Xur) =e



*H= =GEIgE
=CaR-luh"(n)pettisis2(tu)" toh"(nKG(n32)32

Suppose F = =70, then we get the DE
It-a"=ct(I thy?"

When a= IIz= = and theDE becomes

atl-ath" tosee
zer'**
-*

"Th) ==
(He's) "2

Eas-Late't" +2eirat
=>f)tanint?) O, so tier zest,


